EN Shield anchor

FR Cheville d'ancrage a expansion
PL Kotwa rozporowa

RO Ancora metalica cu camasa
ES Anclaje de expansion

PT Ancoramento blindado

TR Cekmeli dlibel

EN IMPORTANT - These instructions are for your safety. Please read through them
thoroughly prior to handling the product and retain them for future reference.

FR IMPORTANT : Ces instructions sont données pour votre sécurité. Merci de les lire
attentivement avant de manipuler le produit et de les conserver pour référence.

PL WAZNE — Niniejsza instrukcja zostata opracowana w celu zapewnienia bezpieczenstwa
uzytkownikowi. Nalezy jg doktadnie przeczyta¢ przed obstugg produktu i zachowa¢ do
wykorzystania w przysztosci.

RO IMPORTANT - Aceste instructiuni sunt pentru siguranta ta. Citeste-le cu atentie inainte de
montarea produsului si pastreaza-le pentru consultare ulterioara.

ES IMPORTANTE: Estas instrucciones son para su propia seguridad. Léalas atentamente
antes de manipular el producto y guardelas para futuras consultas.

PT IMPORTANTE - Estas instrucdes sdo para sua seguranca. Leia-as atentamente antes de
manusear o produto e guarde-as para consultas futuras.

TR ONEMLI - Bu talimatlar sizin giivenliginiz igindir. Uriin (izerinde galismaya baslamadan
once lutfen bu talimatlari dikkatlice okuyun ve ileride basvurmak tizere saklayin.

5059340426341 / 5059340919232 /
5059340426334 / 5059340919454 /
5059340426327 / 5059340919768

V10924_5059340426341_MAND2_2324

‘ 5059340426341_MNL_IN_V02.indd 1

EAN: 5059340426341

Page Size: A4

EN Parts FR Pieces PL Czesci RO Piese ES Piezas
PT Pecas TR Pargalar

1b. x2 1d. x2

01. x2

EN Shield anchor
M10 x 75 with O hook 2 pcs
FR Cheville d'ancrage a expansion
M10 x 75 avec piton 2 pieces
PL Kotwa rozporowa M10 x 75 z
hakiem oczkowym 2 szt.
RO 2 ancore metalice cu cadmasa
M10 x 75 si inel
ES Anclaje de expansion
M10 x 75 con gancho O,
2 unidades
PT Ancoramento de prote¢do
M10 x 75 com gancho em O
2 unidades
TR Cekmeli diibel O kancali
M10 x 75 2 adet

5059340426327
5059340919768

EN Number of product (n)
FR Nombre de produits (n)
PL Liczba sztuk produktu (n)
RO Numar de produse (n)

ES Numero de producto (n)
PT Numero do produto (n)
TR Uriin Sayisi (n)

EN Description
FR Description
PL Opis

RO Descriere EAN
ES Descripcion
PT Descrigao
TR Acgiklama

EN You will need FR Vous aurez besoin de PL Bedziesz
potrzebowa¢ RO Vei avea nevoie de ES Necesitara
PT Vai precisar de TR ihtiya¢ duyacaklariniz

EN Shield anchor
M6 x 50 with O hook 2 pcs
FR Cheville d’ancrage a expansion
M6 x 50 avec piton 2 piéces
PL Kotwa rozporowa M6 x 50 z
hakiem oczkowym 2 szt.
RO 2 ancore metalice cu camasa
M6 x 50 si inel
ES Anclaje de expansion
M6 x 50 con gancho O,
2 unidades
PT Ancoramento de protegéao
M6 x 50 com gancho em O
2 unidades
TR Cekmeli diibel O kancali
M6 x 50 2 adet

5059340426341
5059340919232

EN Shield anchor
M8 x 65 with O hook 2 pcs
FR Cheville d'ancrage a expansion
M8 x 65 avec piton 2 pieces
PL Kotwa rozporowa M8 x 65 z
hakiem oczkowym 2 szt.
RO 2 ancore metalice cu camasa
M8 x 65 si inel
ES Anclaje de expansién
M8 x 65 con gancho O,
2 unidades
PT Ancoramento de protegéo
M8 x 65 com gancho em O
2 unidades
TR Cekmeli diibel O kancali
M8 x 65 2 adet

5059340426334
5059340919454

09-09-2024 16:35:53



EN Safety FR Sécurité PL Bezpieczenstwo
RO Siguranta ES Seguridad PT Seguranca
TR Guvenlik

EN Installation FR Installation PL Instalacja RO Montare ES Instalacion PT Instalagdo TR Kurulum

EN
Before you start

. Wear protective glasses.

01

FR
Avant de commencer

. Porter des lunettes de protection.

PL
Przed rozpoczeciem uzytkowania

. Zatozy¢ okulary ochronne.

RO
Inainte de a incepe

. Poarta ochelari de protectie.

ES
Antes de empezar

. Utilice gafas protectoras.

PT
Antes de comecgar

. Utilize éculos de protecéo.

TR
Baslamadan 6nce

. Koruyucu gozlik takin.

5059340426341_MNL_IN_V02.indd 2

D

EN Drill diameter (D:mm) EN Min. hole depth EN Embedment depth EN Recommended torque (Nm)
FR Diamétre de pergage (D : mm) FR Profondeur de trou min. FR Profondeur d’ancrage FR Couple recommandé (Nm)
PL Srednica wiertta (D: mm) PL Min. gtebokos¢ otworu PL Giebokos¢ osadzenia PL Zalecany moment dokrecania (Nm)
EAN RO Diametru burghiu (D: mm) RO Adancime min. gaura RO Adancime incorporare RO Cuplu recomandat (Nm)
ES Diametro de perforacion (D: mm) | ES Profundidad minima del orificio | ES Profundidad de incrustacion | ES Par recomendado (Nm)
PT Diametro da broca (D: mm) PT Profundidade min. do orificio PT Profundidade de imerséo PT binario recomendado (Nm)
TR Delme ¢api (D: mm) TR Min. delik derinligi TR Gomme derinligi TR Onerilen tork (Nm)
5059340426341
5059340919232 12 50 45 6
5059340426334
5059340919454 14 55 50 14
5059340426327
5059340919768 16 65 60 2

02

09-09-2024 16:35:53



1b. x2

[ j ELEMENTS D’EMBALLAGE (=]

<o | ASEPARER + NOTICE A BAC
& DEPOSER DANS LE BAC DE
DE TRI TRI

1a.x2 fe.x2 1d. x2 Manufacturer « Fabricant « Producent » Producétor  Fabricante:

UK Manufacturer:

Kingfisher International Products Limited, 1 Paddington Square, London, W2 1GG,
United Kingdom

EU Manufacturer:

Kingfisher International Products B.V., Rapenburgerstraat 175E, 1011 VM Amsterdam,
The Netherlands

EN www.diy.com / www.screwfix.com / www.screwfix.ie
To view instruction manuals online,
visit www.kingfisher.com/products

FR www.castorama.fr / www.bricodepot.fr / www.screwfix.fr
Pour consulter les manuels d’instructions en ligne, rendez-vous sur le site
www.kingfisher.com/products

PL www.castorama.pl
Aby zapoznac¢ si¢ z instrukcja obstugi online, odwiedz strone
www.kingfisher.com/products

RO www.bricodepot.ro
Pentru a consulta manualele de instructiuni online,
vizitati www.kingfisher.com/products

EN Spanner size (mm) ES www.bricodepot.es
. . Para consultar los manuales de instrucciones en linea,
FR Taille de clé (mm) visite www.kingfisher.com/products
PL Rozmiar klucza (mm)
EAN RO Dimensiune cheie (mm) PT www.bricodepot.pt
ES Tamaiio de la llave (mm) Para consultar manuais de instrugdes online, visite www.kingfisher.com/products
PT Tamanho da chave (mm) TR Ithalatci Firma:
TR Somun anahtari boyutu (mm) KOGCTAS YAPI MARKETLERI TICARET A.S. Sirri Celik Bulvari Otokog Blok No:9 GCekmekdy/
0 o S8 T
5059340919232 N
Faks: (90) 216 484 43 13 / www.koctas.com.tr
5059340426334 13 Kullanim kilavuzuna internet tizerinden ulagsmak i¢in www.kingfisher.com/products
5059340919454 adresini ziyaret edin Yetkili servis istasyonlari ve yedek parga temini i¢cin asagida
yer alan Koctas Musteri Hatti ve Kogtas Genel Midurlik irtibat bilgilerinden faydalaniniz.
gggggig;ig?:; 17 KOGTAS MUSTERI HIZMETLERI
0850 209 50 50

5059340426341_MNL_IN_V02.indd 3 09-09-2024 16:35:53



